
( x , y ) = ( 5 ,−2 )22

( x , y ) = ( 3 , 2 )21

x = −520

x = 719

7x7x + 5y5y

6
18

4x4x + 4y4y17

7a7a2b16

−24xy24xy24xy24xy215

−4a4a314

−5x5x13

−56ab56ab56ab56ab12

−9a9a + b11

42x42x42x − 18y18y18y10

5x5x + 2y2y9

−1.58

−
8
3

7

1
6

6

5
1212

5

11114

−43

−52

41

NO.1NO.1NO.1NO.1

( x , y ) = ( 2 ,−3 )22

( x , y ) = ( 2 , 3 )21

x =
5
2

20

x = 119

x − 17y17y17y

1010
18

3a3a − 11b11b11b + 517

12ab12ab12ab12ab16

315

−
1010
9
b14

8y8y13

−63ab63ab63ab63ab12

5x5x − 2y2y11

−56x56x56x + 21y21y21y10

6a6a − 5b5b9

−78

−
3
4

7

4
3

6

1
1515

5

14144

−20203

72

−71

NO.2NO.2NO.2NO.2

( x , y ) = ( 5 ,−4 )22

( x , y ) = ( 4 , 2 )21

x = −320

x = −419

11x11x11x − 5y5y

1212
18

5x5x + 2y2y + 317

6a6a2b16

−28xy28xy28xy28xy15

−8x8x14

−4a4a13

48xy48xy48xy48xy12

−4a4a2 + abab11

28x28x28x − 4y4y10

11x11x11x − 8y8y9

0.54548

−
2
3

7

−
1
6

6

−
1111
1212

5

13134

33

−92

−71

NO.3NO.3NO.3NO.3

ドリルプリント　２年生「連立方程式」後Ⅱ　【解答】



( x , y ) = ( 4 ,−2 )22

( x , y ) = ( 5 , 3 )21

x = −420

x = 419

5x5x + 5y5y

1212
18

4x4x − y − 717

17ab17ab17ab17ab16

−24xy24xy24xy24xy215

−6a6a314

−6x6x13

−72ab72ab72ab72ab12

−5a5a + b11

35x35x35x − 28y28y28y10

5x5x + 3y3y9

−28

−
8
3

7

1
6

6

3
2020

5

14144

−83

−52

31

NO.4NO.4NO.4NO.4

( x , y ) = ( 4 ,−2 )22

( x , y ) = ( 5 ,−4 )21

x = 620

x = 219

x − 11y11y11y

1515
18

−8a8a + 3b3b + 317

3a3a2b16

415

−
1010
9
b14

8y8y13

−54ab54ab54ab54ab12

7x7x − 2y2y11

−48x48x48x + 40y40y40y10

7a7a − 9b9b9

−88

−
3
2

7

3
4

6

−
7
1515

5

18184

−24243

92

−11111

NO.5NO.5NO.5NO.5

( x , y ) = ( 3 , 1 )22

( x , y ) = ( 3 ,−2 )21

x = −520

x = −319

11x11x11x + 3y3y

2020
18

5a5a + 317

21ab21ab21ab21ab16

−42xy42xy42xy42xy15

−
9
2
x14

−3a3a13

28xy28xy28xy28xy12

−9a9a2 + 6ab6ab6ab11

54x54x54x + 30y30y30y10

14x14x14x − 10y10y10y9

0.42428

−
9
2

7

−
2
9

6

−
1313
1212

5

17174

73

−72

−91

NO.6NO.6NO.6NO.6

ドリルプリント　２年生「連立方程式」後Ⅱ　【解答】


